
The fundamental Theorem of line Integrals-

Recall : the gradient

grad :

of =

Recall : A vector field E is conservative if E = rt

for some scalar function f. In this case
,
f is

called a potential function for E
.
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Money Ecxvy ) -- Cy , y
') is not conservative .

Why not ? If fix, y ) existed , would have :
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Sps . E is conservative , so I = of for some function f.

let C be any path from A to B
, parametrized by
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let C be any curve from Chl ) to 12,27.

let E -
- ly , x) ( Recall E =

Then JOE - dsi --
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* Important consequence : If E is conservative ( F- = of)
*

then LF .d5 depends only on value off

at endpts A and B
,
not on C
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By contrast
,
for a generate vector field .
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EI Flay ) = ly , y
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